Integrated 3 Chapter 1 Review	                                                       Name ________________________________ Per ______ 
	

1. Given  ,  , 

     and  
Find: 

a)  

b)  


c)   if 


d)   if


e)   if
	[image: ]2. What happens when we push these two functions together to form a composition of functions? Try dropping in at least three numbers and look for and describe a pattern with the outputs.   Show your work .


               and  

	3.  What are the domain and range for
 each of the following functions?             

                                                                                
[image: http://images.flatworldknowledge.com/reddenint/reddenint-fig04_050.png][image: ] b.

D:                                                               D:

R:                                                               R:          



[image: ]
[image: Image result for domain range problems]              
c.                                                                         d.




       
                                                          
    D:                                                           D:                 

    R:                                                            R:                              


                       
	

4. Given   and   
Find:

a)  
   


b) 



c) 



d) 



	5. Graph the following function (be sure to label the asymptotes).

[bookmark: _GoBack]a) 
[image: http://www.mathnstuff.com/gif/5x5plan.gif]


D: 


R:


	6. Sketch a graph with the following domain and range:

a) 
Domain:   

               Range:  









b) 
Domain:  

               Range:  










	7. Solve the following equations using the Zero Product Property:

a) 







b) 








c) 

	8. Solve the following equations using the quadratic formula:


a) 







b) 








c) 






	9. Write the following in inequality notation.


a) is between -2 and 6



b)  is between 4 and 10



c)  is greater than -7 and less than or equal to 5



d)  is greater than or equal to -8 and less than 9.
 
	10.  Find the x and y intercepts of the following.  Show your work.



a)   





b) 
            




	
11.  Solve for .  Show your work.

	
a) 
  




             c)    
	

b)     





d)    

 


	12.  State whether the following are polynomials.  State the degree of each polynomial.

	         

            a)    


            c)    



            e)    
	

b)   


d)   



f)    
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When you're done: Do Quiz corrections, due
Thursday! (Either do them on another paper or the
same paper in a different color)

Quiz Re-take Sign-up (or those who were absent day of the quiz)

“Have to do your retake this wesk, o  thesstimes don'twork ses m to make

th Practice Problems - Domain and Range Tuss | Tonsshar hoal | Vs tunch | s shrhoet e
v ) wa) i) (i o)





image16.png




image17.wmf
()35

fxx

=+


oleObject14.bin

image18.wmf
()97

gxx

=-


oleObject15.bin

image19.wmf
()()

fxgx

+


oleObject16.bin

image20.wmf
()()

fxgx

-


oleObject17.bin

image21.wmf
()()

fxgx

×


oleObject18.bin

image22.wmf
()

()

fx

gx


oleObject19.bin

image23.wmf
1

()

2

fx

x

=

-


oleObject20.bin

image24.gif

image25.wmf
23

x

-<£


oleObject21.bin

image26.wmf
25

y

-£<


oleObject22.bin

image27.wmf
0

x

³


oleObject23.bin

image28.wmf
0

y

£


oleObject24.bin

image1.wmf
4

()

3

x

fx

x

=

-


image29.wmf
2

10240

xx

++=


oleObject25.bin

image30.wmf
2

1118

xx

-=-


oleObject26.bin

image31.wmf
2

2730

xx

++=


oleObject27.bin

image32.wmf
2

2720

xx

+-=


oleObject28.bin

image33.wmf
2

511

xx

+=


oleObject29.bin

oleObject1.bin

image34.wmf
2

3860

xx

++=


oleObject30.bin

image35.wmf
x


oleObject31.bin

image36.wmf
y


oleObject32.bin

image37.wmf
x


oleObject33.bin

oleObject34.bin

image38.wmf
3518

xy

+=


image2.wmf
()4

gxx

=-


oleObject35.bin

image39.wmf
48

yx

=-


oleObject36.bin

image40.wmf
x


oleObject37.bin

image41.wmf
3(4)4

52

xx

--

=


oleObject38.bin

image42.wmf
8(2)3(25)13

xx

+--=


oleObject39.bin

image43.wmf
5

4

x

x

=-


oleObject2.bin

oleObject40.bin

image44.wmf
2

3104

3

xx

-+=-


oleObject41.bin

image45.wmf
832

5475

xxx

+-+


oleObject42.bin

image46.wmf
2

53

3

10271

xxx

-+-


oleObject43.bin

image47.wmf
52

349

xx

-

++


oleObject44.bin

image48.wmf
35

x

+


